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[ BEEXIEE a,. Let f (n) be the number of these permutations such
that
(I) a1= 11

(i) la;—aiz11=<2 ,i=1,------,)n-1

Determine whether f (1996) is divisible by 3.

Bl

HAHE 1,00 n BERHHIEEIYIFRR Fay - ay

(i) a;=1;

(||) |ai — ai+1 | S 2 , i:l’ ...... ,n_l

ARIEEERTE f(1996) 8 AREML 3 ZEPR?

B = R AR FRHE



s —{E =41 ABC [y EHE =M HiZ & AB=AC - {4 B HY
Ao 4R ELE AC 2> D &f H & BC=BD+AD - >Kfg A

A fa] I RE AR F B

5.

ri~ o ra.rmog mfEEAEE

H ri+rp+rs... +rp=1

HMMTE ek E f(n) > n BEE IR
f(n)=n-([r1xn]+ [r2xn]+ [r3xn]...[rmXn])

sa R f(n)iE (I8 el B B KM B e/ IME
ETRFEE X RN x AR EEEY -
B TS B



